fa"' a""" ame2 is a) am b) am ;"i‘il b d) 1
DE || BC, AB = 3.6cm, AC = 2.4cm and AD = 2,1cm then the iength of AEis
a) 1 4cm b) 1.8cm ) 1.2cm é¥1.05cm
The area of a triangle formed by points (-5, 0), (0, -5) and (5,0) is
aﬁ sq units b) 25 sg. units c) 5 sq.units . d)'hone ofmse

). The slo‘pe of gtﬂﬁlwcg is | eMdﬁ'm y "’? “"W"w tﬁaw

a)-1 Rt 1 MR ayeg
Ifsine-cose then the value of Ztan’0+sin20 1is ar)y b) / c) / d) "y

The f{eight of a right circular cone whose radius is 5cm and slant height is 13cm will be

ay12 b) 10cm c) 13cm d) 5¢cm

If the "tandard deviation of x,y,z is p then the variance of 3x+5, 3y+5, 3z+5 is ~

ay3h + 5 b) p? + 5 c) 9p? dyop+s /

A page is selected at random from a book. The probability that the digit at ur/its place of the
page nu lber chosen is less than 7 is a) %0 by“\/o c) /9 4 %
Answer any 10 questions. Q.No. 28 is compulsory. 10X2=20 |

If B X A =\{(-2,3), (-2,4), (0,3), (04),(33),(34)}f'ndAandB
If f(X) = 3x - 2 g(x) =2X + K and if fog = gof, then find the Valueork:"

Ifp2Xqg’ X ,—f X s3 = 315000 the find p,q,r and s.
Which term of‘an AP:16,11,6;1, ~547?
, 7p+2
Find the exctaded value of 8P +13p+5
Determi#e the nature of the roots of the quadratic equation 15x? + 11x + 2 = 0.
4’1 . o A
<5 "
he figure, AD is the bisector of Z A. If BD = 4cm, 4

t
ID%‘-—-_écm and AB = 6cm find AC. B <M D 3m ¢
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s ,_g:: .
1 fo , 0), | , 6 nd (-6, -3). :
A 0 g se vertic B(-5, -1)' iy

A pole 5m high is ﬂxeLdJon the top of a tower. The angle of elevation of the top ¢f the poie
observed from a point "A” on the ground is 60° and the angle of depression to tI'fe polnt“A" ;

from the top of the tower is 45°, Find the height of the tower. (,/3=1.732) |
_Nathan, an engineering student was asked to make a model shaped like a cyli grwlth I:wb LA
cones attached ap,its two ends. The diameter of the model is 3cm and its leng 1is slacm. If 2
each cone has a height of 2cm, find the volume of the model that Nathan made. A
The scores of a cricketer in 7 matches are 70,80,60,50,40,90,95. Find the ndard devia-

tion. ) §
Two dice are rolled once. Find the probability of getting an even number on/éme first dlg or aF

total of facexum 8.

Find the square root ﬂf-64x‘ 16x° + 17x2 - M—.—N .L\

Answer all the questions,

a) Draw a triangle ABC of base BC = 8cm, £ 4= 60°and the bisectorof z A meets BC
and D such that BD = 6cm. (OR) ‘

b) Conﬁruct a triangle similar to a given triangle PQR with its sides egug+ to 3/5 of the
corresponding sides of the triangle:PQR. (Scale factor 3/5<1). \
a) Draw the graph of y = 2x? - 3x - 5 and hgnce solve 2x? - 4x - 6 = 0. (O,
b) A garment shop announces a flat 50% discount on every purchase,of Iten’vs for their
customers. Draw the graph for the relation between the marked price /and the H_Ls;ount
Hence find i) the marked price when a custamer gets a discount of Rs. 3250 (from raph)

i) the discount when the marked price is Rs, 2500. RM-1 10 & dFm (EM)"W\GE -2

.
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